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1. Muscular contractions of intestines are called as :

(A} Coagulation (B) Penstalsis
() Anastomosis (D) Aestivation
2.  Number of deciduous reeth in humans are :
{A) 16 By 20
() 24 (D) 28
3. ORSwaves are linked with ;
(A) Electrocardiogram () Electroencephalogram
(C) Electromyogram (D) Electrophoresis

4. Rhfactor in blood group is :
{A) Found i people with *A’ blood group only (B) Found onlyina person with '()" blood groug

(C) Named after monkeys (D) Named after dogs
5. Lifespan of red blood cells in our body is :
(A) Lessthanaweek (B} 1-2 months
(C) About 3 months (D) More than & months
6.  When number of red blood cells in our boady is increased too much, it is known as :
{A) Anisocytosis (B) Leukocytosis
{€) Hemoglobinemia (D} Polycythemia
7. Inwomen the egg (ovum) is released in which part of the menstrual eyele
(A) Om firstday (B} At the end of first week
(€} Inthe middle of the cycle (D) Onlast day
8.  Which of the following is TRUE about Parthenogenesis ?
(A) Ttimpliesvirgin birth (B) Itproduces diploid organisms
(C} Itisseenonlyinvertebrates (D) Itis common in women after 60 yrs. age
9. Minamata disease is linked to pollution by :
(A) Arsenic (B} Ol spills
(C) Human organic wasle (D)  Industrial waste mercury
10, Units to grade noise pollution are :
(A) Decibels {B) Hertz
(C) Knots (1)) Armstrong
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I1. Whom of the following is known as father of “White Revolution® in India 7

(A} Sunderlal Rashuguna (B} V. Kurian
(C) M.S. Swaminathan (D) V5. Naipaul
12. Which of the following is a vestigial organ in human bein s 7
(A) Coccyx (B) Cornea
{C) Caeccum (D} Cochlea
13, Excessive growth hormone can lead to ;
(A) Graves® discasc (B) Hashimoto diseass
{C) (hgantism (D) Crefinism
14. Which of the following is TRUE of diabetes insipidus ?
(A) Itisdueto deficiency of caleium {B) Tiisdue o deficiency of insulin

(€} Itisdue to deficiency of antidiuretic hormone (D) Itisdueto deficiency ol cadmium
I3, During cell division chromosomes ean be counted at which stage 7

(A} Telophase (B) Analphase

{C) Prophase {D) Metaphase
16. Which of the following is TRUE about gluconengenesis

{A) Inthis the end result is cancer of pancreas

(B) Inthis non-carbohvdrate precunsors convert to glucose

(C) Inthisliveris NOT involved

(13) Inthis glycolysis oceurs to produce glucoese
I7. Which of the following is TRUF. of Ketogenesis ?

(A) Itrarely occurs during starvation (B} [tis caused by excess of carnitine
(C) Itrarely occurs in diabetes mellitus (D) Dtinvolves fatty acid oxidation

18, Which of the following is TRUE of cholesterol ?
(A) Itisaprecursor of steroids (B} ItCANNOT be synthesized in body

(C) Itistransported from gall bladder to pancreas (D) Itleads to atherosclerosis through HDL exces
9. Which of the following statements is correct ?

{4) Xenobiotics are chemical compounds foreign to body

(B) Cytochrome P4350s are poor biocatalysts

(C) Hibemating animals lack brown adipose tissue

(D) Non-polar lipids are easily soluble in water
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20. Which of the following is a correct statement 7

{A) Btarch isa disaccharide (B) Maltose is a monosaccharide
(C) [nulinisapolyvsaccharide {3} Ribose isadisaccharide
21. "Hay bacillus does not cause anthrax u pon injection", This phenomenon is termed as :
(A) Antigenic sensitivity (B) Biological specificity
(C) Complementary immumnity (D) Disease immumnity
22. Which of the following is TRUE of solidifving agents used in microbiology ?
(A} Gelatin resists liquefaction 61l 70°C (B) Gelatinisa polysaccharide
(C) Agarisapolysaccharide (D) Agar gel melts at 60°C

23. Which of the following is TRUE of sterilization 7
(A) Dy heat method is used in autoclaving
(B) Aumtoclaving is effective in killing spores
(C) Dry heat is more effective than moist heat
D) - Autoclaving uses temperature of 170°C for 90 minutes
24. Which of the following is TRUE about differences between metazoan animn #ls and vascular plants ?

{A) Energy sourceis similar (B} Cell walls are absent in both
(C) Plant growth continues throughout life (D) Both have chloroplast
25. Which of the following is correct pair of enzyvme and its use ?
(A) Streptokinase as digestive sid {(B) Invertase for candy manufacture
{C) Protease promotes wound healing (D} Pectinase as detergent

26. Which of the following pair of product and fermen ting agent is correctly matched ?
{A) Beer by Saccharomyces Pasteurianus
(B) Yoghurt by Lactobacillus bulgaricus and Streptococcus thermophilus
(€} Bread by Geotrichum Candidum and Penicillium Spp.
(D) Wine by Lactobacillus irichodes
17. Which of the following is a bacterial disease 7

(A) Chicken pox (B) Rabics
(C) Rubella (D} Diphtheria
28. Which of the following diseases have been eliminated from India 7
(A) Giardiasis (B) Serum Hepatitis
(C) Typhoid (D) Guineaworm disease
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Which of the following malignancy is more common in developing countries as compared to West ?
(A) Carcinoma Cervix (B) Carcinoma Stomach

{C) Carcinoma Breast (I3) Cancer Lung

Which of the following is TRUE of obesity ?

(A) Ttoccurs only after the age of 30 years

(B) It DOES NOT have a genetic cause

() [tDOES NOT have a role in gall bladder disease

(D) Inobese peaple body mass index is above 25

For what purpose septic tank is used ?

(A) Providing safe water supply (B) Disinfection of instruments

(C) Storng infected instruments (I¥  Human excreta disposal

Which chemical is mostly used for water purification in Indis

(A) Zinc _ (B) Chlorine

(C) lodine (D} Potassium permanganate

Which of the following is TRUE about Census of India 7

(A) Itwas first conducted in 1851 (B} Irisconducted in the middle of the vear

(C) Italso collects information on literacy status (D) Itisconducted by Director General Health Services
Which of the following systems originated from Indiz ?

(A) Siddha (B) Upam
(C) Hemeopathy (D) Tikh
- Tridosha theory of Ayurveda comprises of :
(A} Honey, liquorice and glveerrhiza (B]  Ahimsa, alchemy and phleam
(C) Vata, pitta, cough (12} Yang, yin, variolation
Which of the following discases are NOT tra nsmitted from animal to man ?
(A} Plague (B} Rabies
{C) Tapeworms (12} Measles
Which of the following diseases are NOT s pread by houseflies ?
{A) Amoebic dysentry (B) Typhoid
(C) Chicken pox () Conjunctivitis
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Which of the following is a drawback of boiling as a methaod of PURIFICATION of water ?
(A) Removestemporary hardness (B) Alters the taste of water
(C) Dwoes not protect against later contamination (D) Kills useful bacteria in water also

‘Baby boumer' generation was related to:

(A) First World War (B) Second World War

(C) Russia-US Cald War (D} US-Irag War

Which of the following is one of the best indicators of air pollution 7

(A) Smokeindex (B) Carbondioxide

{C) Bromide index {13} Biological oxygen demand
Which of the following is a green house gas ?

(A) Ozone (B) Sulphurdioxide

(C) ' Carbon monoxide (1) Nitrous oxide

Which of the following is the best measure of protection against occupational deafness ?
(A) Redoetion of working hours (B) Reduction of noise st source
(C) Wearing of car muffs (D) Early diagmosis of deafhess
Which of the following is TRUE of mosguitoes 7

(A) They NEVER rest on bushes {B) They DO NOT hibernate

(C) Males DO NOT bite (D) They live upto 3075 days
Which ol the following is TRUE of houseflies ?

(A) Itslife spanis upto | weck (B} Only female houseflies bile
{(C)  Their flight range is upto 100 meters {I¥) These can transmit trachoma
Which of the following is TRUE about ultraviolet ravs irradiation for disinfeetion of water ?
(A) Period of exposure is short (B) It can beused in turbid water
{C) Itsresidual effect lasts for 2 days (DY Itisineffective against vims
Which of the following is a disadvantage of ozone as a disinfectant ?

(A) Tt has astrong virucidal effect (B) Ttisapowerfil oxidizing agent
(C) Itdecomposes after disinfection (D) Iteliminates odors also
Which of the following is an auteimmune disease 7

(A) Myasthenia gravis (B} Poliomyelids

(C} Cerbral malaria (I} Leptospirosis
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Which of the fullowing is TRUE of antibodies ?

(A) Igl mediates histamine releasc to cause allergic reaction
(B) IgA cancross placenta barrier

{C) Igh is the most abundant antibody in blood

(I3} Ig(G can harm the newboms

Which of the following is TRUE of ruminant animals 7
(A) Theseasre omnivorous aninals

(B) These donot belch as a mechanism to expel gas

(€} These make cellulase to effectively digest cellulose

(1)) These have 4 successive stomachs

Which of the following is TRUE of carbon cycle ?

(A} Dissalution of CO, in acidic water produces CaCO,
(R} Bicarbonates act as reservoir of carbon

{C}  Alpgae are principal agents of photosynthesis

(D} Concentration of CO, in atmosphere is 3.3% by volume

31, Which of the following is TRUE about electronic microscopy 7
{A) Specimen as thick as 1000 nm can be imaged
(B) In transmission electronic microscopy electrons are reflected back from specimen for imaging
{C) 400-1000 voliage is passed berween cathode and anode
(D} Electron beam can only be produced in a vacuum
52. Fossil fuel burning is the main cause of :
{A) Nitrous oxide pollution (B Nitric oxide pollution
(C) Nitrogen oxide pollution (1) Sulphur dioxide polhution
33, Coniferous forests are seen in :
(AY Central India (B} Deserts
(C) Satpurahills (D) Himalavan region
54. Killing of Jews and the concept of Aryan Race of Hitler represent :
(A} Positive Fugenics (B} Negative Eugenics
(C) Positive Eutheriics (D) Negative Euthenics
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55. Rods and cones are found in :
(A) Retina (B) Irs
(C) Comea (D) Pupil
56. Useof dead animals ax food material by other animals is known as :
(A) Camouflage (B) Parasitism
{C) Scavenging (D) Commensalism
57. Which of the following is TRUE of Leguminous Plants ?
(A} These aredisease resistant (B) These need very little water for growth
(€) Thesc trap nitrogen from atmosphers (I3) These belong to the family cucurbitaceae
58. Polyandry implies which of the following ?

61.

62,
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(A) Awoman marries many men

(B} A manmarries many women

(C) Insects spreading poliens of plants at muny places
(1) Artificial insemination of many animals

Seminiferous tubules are found in :

{A) Kidney (B) Testis

(C) Ovaries 5 (D), Spleen

Syphilis is caused by ;

{A) Trypanosoma gambiense (B} Trichinella spiralis
(C) Trchuris trichura (D) Treponema pallidum
Jaundice is due to excess of which of the following 7

(A) Bilirabm (B) Hemoglobin

{C) Immunoglobulin (D} Ceruloplasmin
Treadmill test is used to assess the fitness of which organ ?

(A) Pancreas (B} Liver

(C) Hean (D) Kidney
Lockjaw is a term used to describe which disease ?

(A) Botulism (B) Tetarus

(C)] Rabies (D) Epilepsy
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64. Mother's milk provideswh ich kind of immunity to the baby 7
(A) Active (B) Passive
(C) . Austo imrmumnity (D) Delayed
65. Hypermetropiaisthe condition where the patient :
{A) Hasdifficulty in seeing distant objects (B) Hastouse convex lens for correction of vision
(C) Hasproblemin color differentiation (D) Has squint in both eyes
66. Carpel tunnel syndrome :
(A} Develops when key baard use isexcessive  (B)  Develops when soldiers are trapped in trenches
(C) Develops when a child falls inbore hole (D) s never reported in people aged below 35 vyTs
67. 1na departmental store some tins of jam are puffed up (hloated). Consumption of the contents can lea
to:
{A) Ascites (B) Botulism
() Cirthosis (D) Diabetes
£8. Which of the following is a protozoal disease ?
(A) Plague (B} Ascariasis
(C) Filaria (D) Malaria
69. Tertiary sector economy is linked with
(A) Banking (B) Manufacturing
(C) Agiculture (D) Forestry
70. ‘Percstroika’ term originating from Russia denoted :
(A} Endof Cold War () Eradication of small pox
(C) Risein noncommuricable diseases (D) Disenchantment with public sector
71. “Fealitarianism’ term denotes :
(A} Ansctive coneern for wellare of everyone (B) Principle of equality of gender, caste slc
(€C) Asvstemof belief regulated by reason D) A disdain for orthodexy in aociely
72. Among the 4 ashramas in Indian Society Vanaprastha ashrama is placed at which position ?
(A) 3*only (@) 4% only
(€] 2™or 3 interchangeably (D) 3*or4® interchangeably
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73. In Hinduism Brahma, Daiva, Arsha, Asura, Gandharva, Prajapatva, Rakshasa, Paisacha are the ypes
of :
(A) Marmiages (B} Families
(C) Societies (D) Hummars

74. A process in which lower caste people tend to imitate the values, practices and lifestyle of some dominant
upper caste is known as ;

(A) Globalization (B} Indoctrination
(L) Westemization (D} Sanskritization
75, *Social mechanism for exchanging goods and services' expression describes which of the following
terms !
(A} Castesysiem (B} Marmiage
{€) Economy (13} Market
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